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51)  Choose the noun form of the word 'Brief .....
A) Briefness B) Brieffing C)Abbreviation D) Briefcase
52)  'Thave been writing letters since morning’.
Choose the correct kind of tense in above sentence of the alternatives given below.
A) Present Continuous - : _ B} Present Perfect Continuous
. C) Simple Present. Tense : D) Past perfect Continuous
.33)  Which of the following sentences are grammatically correct ?
1) If you work hard, you will win a prize. =~ 2} Work hard and you will win a prize.
3) If you want to win a prize, work hard. 4) Should you want to win a prize, work hard.
A)Only 1 B)1&3 o123 D) 1,234
54) 'If we had lived a century ago, we would have missed much fun' - . :

The abave conditional sentence can also be written as ........



A) Had we lived a century ago, we would have missed much fun. - - B r
B) Had we live a century ago, we had missed much fun, T '
. C) If we have lived a century ago, we would have missed much fun, ;
D) Had we lived a century ago, we would had missed much fun.
55)  Of the following, which is not the collective noun.

A) Crowd ' B) Honesty - C) Jury . D) Herd
56)  Of the following, which is not the abstract noin ? _ ' ' )
A) Wisdom B) Youth B ) Poverty D) Fleet

37) M. Patil teaches us grammer .
~ Find out the passive form of the above sentence from the altematwes given below
A) Grammer is taught to us by Mr. Patil B) Grammer is being taught to us by Mr. Patil
C) Mr. Patil is being taught to us grammer D) Mr. Patil's grammer is belng taught by us
58)  Find out the sentence in 'passive voice' of the alternatives given below,
- A) Marathi is spoken all over Maharashtra.  B) I will teach you a lesson.
-C) People speak English all over the world. D) We can thé umbrella in the ramy season,

59 ‘Substitute one word for the following sentence -
The persbn who gives encouragemem moral or f1nanc1al support to-a person cause etc, is
called as .

A) Veteran B)Almighty’ ~ C)Mighty D) Patron
60). Give one word for the following sentence. . SR
' One who changes one's principles or party .........

. A)Exchanger " B) Exile _,.-O)Layman D) Turncoat
61) Feminine of Fox is ........ T
- A) Foxes B) Foxhen C) Foxen . D) Vixen

62) Masculine of Niece is .......... _' . o -

A) Niecess B) Nice -~ C)Nephew ‘D) Nixen
63) He is good poet but not ........ Shakespeare (choose cormrect atticle from the following to fill

in the blank) - :

A)a Blan . C) the ' D) none
64) Kalidasis......... Shakespeare of India. '

Aa B)an _ C) the ' * D) none
65) 'He spoke so fast that he could not be understood.’ "' -
"The above sentence can also be written as .
A) He spoke to fast too be understand - B) He spoke too fast to be understand
C) He spoke too fast to be understood m Hc speaks too fast to be understand
66)  The teacher said, "The earth revolves round the sun."
Choose the indirect form of the above sentences of the alternatives given below
A) The teacher says the earth revolved round the sun.
B) The teacher says that the earth revolves round the sun,
) The teacher said that the earth revolves round the sun.
I The teacher said that the earth revolve round the sun.
67) Choose the punctuated sentence of the following.
A) "Eknath, he said" to me, "1 did not not expect it from you.'
~B) "Eknath, he said to me, I did not expect it from you." .
C) Eknath, he said te me, I did not expect it from you." B . !
D) “Ekniath”, he said to me, "1 did not expect it from you.” o
68) Everycloudhasa........ lining.
~ A)black B) brown ' C) golden © Dysilver
69) 'People in need must accept what is given' e .
* Choose the correct proverb for the above sentence.
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A) Blood is thicker than water B) Beggars cannot be choosers

C) The child is father of the man D) As you make the bed, so you must lie in it.
Which word of the following is not correct ?

A) Colonel B) Licutenant C) Commissioner D) Commodore
Which of the following is not synonym of the word - 'Genuine ?'

A) Authentic B) Counterfiet C) Real D) Unadulterated

"Yeoman' Service' means .........

A) Agricultural work. B) Industrial work C) Excellent work D) Distructive work
Choose the correct meaning of the idiom : 'An eye for an eye' ........ : ;
A) Fixed target B) Waiting for a friend ~ C) Complete revenge D) Foresight
Choose the correct meaning of the idiomatic expression : 'Fresh and Blood'

A) Human nature B) Best food C) Worst food D) Active person
Absence from duty without taking proper leave .......

A) Yeoman's leave B) French leave C) German leave D) Australian leave
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